

SNS COLLEGE OF ENGINEERING Kurumbapalayam (Po), Coimbatore – 641 107



AN AUTONOMOUS INSTITUTION

Accredited by NBA – AICTE and Accredited by NAAC – UGC with 'A' Grade Approved by AICTE, New Delhi & Affiliated to Anna University, Chennai

Topic: 4.5 – TAYLOR SERIES FOR FUNCTIONS OF TWO VARIABLES

3 Expand sin(xy) impowers of x-1 and y-in 2 upto second degree terms.

Function	Value at (1, 1/2)	
f(x,y) = sim(xy)	f = 1	£
$f_{x} = y \cos(xy)$	$f_1 = 0$	u.c.
fy = 2 cos(xy)	fy = 0	1,00
$f_{xx} = -y^2 sim(xy)$	fxx = - 112/4	29.1.
fxy = - xy sin(xy) + cos xy	$F_{1y} = - \pi/2$	=
fyy = - x sim (xy)	Fyy = -(1 1) + - 1	

Here
$$a = 1$$
, $b = \overline{1}/2$, $h = x - 1$ and $K = y - \overline{1}/2$

$$f(x,y) = 1 + \left[(x-1) + (y - \overline{1}/2) + \frac{1}{2!} \left[(x-1)^2 (-\overline{1}\overline{1}^2) + 2(x-1) (y - \overline{1}/2) (-\overline{1}\overline{1}^2) + (y - \overline{1}/2)^2 (-1) \right] + \cdots$$

$$= 1 + \frac{1}{2} \left[-\overline{1}^{\frac{1}{2}} (x-1)^2 - \overline{1} (x-1) (y - \overline{1}/2) - (y - \overline{1}/2)^2 \right] + \cdots$$



SNS COLLEGE OF ENGINEERING Kurumbapalayam (Po), Coimbatore – 641 107



AN AUTONOMOUS INSTITUTION

Accredited by NBA – AICTE and Accredited by NAAC – UGC with 'A' Grade Approved by AICTE, New Delhi & Affiliated to Anna University, Chennai

(4) Find the Taylor's series expansion of x'y'+2xy+3xy2 in powers of (x+2) and (y-1) upto third degree terms.

Function	Value at (-2,1)
$f(x,y) = x^{2}y^{2} + 2x^{2}y + 3xy^{2}$	f = 6
$f_{x} = 2xy^{2} + 4xy + 3y^{2}$ $f_{y} = 2x^{2}y + 2x^{2} + 6xy$	$f_x = -9$ $f_y = 4$
$f_{22} = 2y^2 + 4y$ $f_{23} = 42y + 4x + 6y$ $f_{33} = 2x^2 + 6x$	$f_{xx} = 6$ $f_{xy} = -10$ $f_{yy} = -4$

$$f_{xx} = 2y^{2} + 4y
f_{xy} = 4xy + 4x + 6y
f_{xy} = 2x^{2} + 6x
f_{yy} = -4
f_{xxx} = 0
f_{xxx} = 0
f_{xxy} = 4y + 4
f_{xy} = 4x + 6
f_{yy} = -2
f_{yy} = 0
f_{yy} = 0$$

$$f(x,y) = 6 + \frac{1}{1!} \left[-9(x+2) + 4(y-1) \right] + \frac{1}{2!} \left[6(x+2)^2 - 20(x+2)(y-1) \right] + \frac{1}{2!} \left[6(x+2)^2 - 20(x+2)(y-1) \right] + \frac{1}{2!} \left[24(x+2)^2(y-1) - 6(x+2)(y-1)^2 \right] + \frac{1}{2!} \left[24(x+2)^2(y-1) - 6(x+2)(y-1) - 6(x+2)(y-1) \right] + \frac{1}{2!} \left[24(x+2)^2(y-1) - 6(x+2) - 6(x+2) - 6(x+2) \right] + \frac{1}{2!} \left[24(x+2)^2(y-1) - 6(x+2) - 6(x+2)$$



SNS COLLEGE OF ENGINEERING Kurumbapalayam (Po), Coimbatore – 641 107



AN AUTONOMOUS INSTITUTION

Accredited by NBA – AICTE and Accredited by NAAC – UGC with 'A' Grade Approved by AICTE, New Delhi & Affiliated to Anna University, Chennai